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[Question ID = 864][Question Description = 164_23_0dia_0CT22_Q64]
. ABB

[Option ID = 3453]
2. AQBC

[Option ID = 3454]
3. ¢cBD

[Option ID = 3455]
4 BBED

[Option ID = 3456]
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[Question ID = 865][Question Description = 165_23_0dia_0CT22_Q65]
. AGBB

[Option ID = 3457]
2. B@BC

[Option ID = 3458]
3. A@cC

[Option ID = 3459]
4 B@BD

[Option ID = 3460]
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[Question ID = 866][Question Description = 166_23_0dia_0CT22_Q66]
1 (A)-@V), (B)-(I). (C)-(A1), (D)-(IIT)

[Option ID = 3461]
2. (A)-(IV), (B)-(ID. (C)-(D), (D)-(IIT)

[Option ID = 3462]
3. (A)(IV). (B)-(D). (C)-(III), (D)-(IT)

[Option ID = 3463]
4 (A)-(I), (B)-(II), (C)(II), (D)~(IV)

[Option ID = 3464]

67) ‘§’on e ‘¢ YA QOgE TUR QYOS &R |

w9 =2

A €999 L 8612 6QI00 QaGS!
B. Qa3 II. (I @A

C. 6RiaRI2 QaURIa IIL QEEFIae |18

D. @RI QI IV. @2 lef Q9IQ

PFE a7 966 IR B0de Qees 9a 0
[Question ID = 867][Question Description = 167_23_0dia_0CT22_Q67]
1 (A)-(D), (B)-(II). (C)-(IID), (D)-(IV)

[Option ID = 3465]
2. (A){ID). (B)-(III), (Cy-(IV), (D)-(D)

[Option ID = 3466]
3 (A)(IV ). (B)-(I). (C)-(I1I ), (D)-(IL )
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[Question ID = 868][Question Description = 168_23_0dia_0CT22_Q68]

T (A)(D), (B)-(II), (C)-(IIT), (D)-(IV)

2.

3.

4.

[Option ID = 3467]

[Option ID = 3468]

(A)-( IV). (B)-(I). (C)-(IL). (D)-(11I)
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[Option ID = 3469]

[Option ID = 3470]

[Option ID = 3471]

[Option ID = 3472]

(A)-( ID. (B)-( I). (C)-(IV). (D)-(ILI)

(A)-( IID). (B)-(ID). (C)-(IV), (D)-(1)

(A)-(IV). B)-(IL). (C)-(D. (D)-(IIT}
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[Question ID = 869][Question Description = 169_23_0dia_0CT22_Q69]
(A)-(IT), (B)-(I1I). (C)-(IV ), (D)-(I)

[Option ID = 3473]
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3.

4.

(A)-(II). (B)-(IV). (C)-(I). (D)-(II)
[Option ID = 3474]
(A)-( IV), (B)-(D), (C)-(ID), (D)~(I1T)
[Option ID = 3475]
(A)-(D. (B)-(II). (C)-(I1I). (D)-(AV)

[Option ID = 3476]
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[Question ID = 870][Question Description = 170_23_0dia_0CT22_Q70]
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(A)-( TID), (B)-(IV). (C)-(IT), (D)(T)

[Option ID = 3477]
(A1), (B)-(T), (C)-(I1L), (D)~(TIV)

2.

[Option ID = 3478]
(A)-(D). (B)-(IID). (C)-(IV ). (D)-(IT)

3.

[Option ID = 3479]
(A)-(IV), (B)«IT), (C)-(D), (D)-(I11)

4.

[Option ID = 3480]

71)

‘o G a9e ¢ wHe e ﬁ@§@@ﬂ§ ool |

R =2

L= o

A 96 UePlde

I. geda1d

B. @1€11018] FIglE

II. &F1 2liF) Sl e

c. 9866€ g

T, Q&4 G116

D. 6€lQl @941 Qg

IV. 9%, e, Sl@m|

= = -

QL R goR i AIUde AReS g aa ¢




[Question ID = 871][Question Description = 171_23_0dia_0CT22_Q71]
1. (A)-(IID). (B)-(IV). (C)-(T). (D)-(IT}

[Option ID = 3481]
2. (A)), (B)«IL), (C)-( IID). (D)-AV)

[Option ID = 3482]
3. (A)-(ID). (B)-(III). (C)-(IV). (D)-(I)

[Option ID = 3483]
4 (A)(IV). B)-D). (C)-(ID). (D)D)

[Option ID = 3484]

) o andge o e eldge crler FQde a@a |

L= o=

A RIEDIER SEmIFE L Qg QU

B. 7109 89 69 @10 | IL Q6 QI

D,
C. 1119 Qe I G Flgl
D. F1I5'Q Al IV. 66lid o FAgIQ

@ﬂﬂ ARG B]_@E? g @ dde ol g@ @Gl -
[Question ID = 872][Question Description = 172_23_0dia_0CT22_Q72]
T (A)(IID. (B)-(IV). (C)-(T). (D)-L)

[Option ID = 3485]
2. (A)-(ID). (B)-(I1I), (C)~(I). (D)-(IV)

[Option ID = 3486]
3 (A)-(IV), (B)-(D). (C)-(ID), (D)-(I1I)

[Option ID = 3487]
4. (A)-(D), (B)-(II). (C)-(I1IL), (D)-(OIV)

[Option ID = 3488]
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[Question ID = 873][Question Description = 173_23_0dia_0CT22_Q73]
1 (A)-AID), (B)-(D), (C)-(IV). (D)-(IL)
[Option ID = 3489]
2 (AIV). (B)-ID), (C)-(D. (D)-(I1D)
[Option ID = 3490]
3 (A)XID). (B)(IV), (C)-(III). (D)-(T)
[Option ID = 3491]
4 (A)-(D. (B)-(III), (C)-(ID), (D)-(IV)

[Option ID = 3492]
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[Question ID = 874][Question Description = 174_23_0dia_0CT22_Q74]
- (A)-IV). B)-D. (C)-(D). (D)-(III)

[Option ID = 3493]
2. (A-(IV), (B)-(IID). (C)-(I), (D)-(IT)

[Option ID = 3494]
3. (A)-(IID), (B)-(T). (C)-(IV), (D)-(T)
[Option ID = 3495]



4 (A)-aD), (B)-IV), (C)-(I). (D)-(I)

[Option ID = 3496]
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[Question ID = 875][Question Description = 175_23_0dia_0CT22_Q75]
T (A)(I), (B)-(IT), (C)-(III ), (D)-(IV)

[Option ID = 3497]
2. (A)-ID), (B)-( D), (C)-@IV ). (D)-( IIT)

[Option ID = 3498]
3. (A)-(IID). (B)-@L). (C)- ). D)-(IV)

[Option ID = 3499]
4 (A)-(IV ), (B)-( ID. (C)-(1). (D)-( III)

[Option ID = 3500]
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[Question ID = 876][Question Description = 176_23_0dia_0CT22_Q76]
. ABCD

[Option ID = 3501]
2. ABD.C

[Option ID = 3502]
3. B.ACD

[Option ID = 3503]
4 A.C.B.D

[Option ID = 3504]
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[Question ID = 877][Question Description = 177_23_0dia_0CT22_Q77]
. ABCD

[Option ID = 3505]
2. ADCB

[Option ID = 3506]
3. B.D,A.C

[Option ID = 3507]
4 CD.B.A

[Option ID = 3508]
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[Question ID = 878][Question Description = 178_23_0dia_0CT22_Q78]
. A BCD

[Option ID = 3509]
2. ACDB

[Option ID = 3510]
3 D.GC.AB

[Option ID = 3511]
4 C.A.B.D

[Option ID = 3512]
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[Question ID = 879][Question Description = 179_23_0dia_0CT22_Q79]
' C.B.A.D

[Option ID = 3513]
2. B.ADC

[Option ID = 3514]
3. ADCB

[Option ID = 3515]
4 D.C.B.A

[Option ID = 3516]
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[Question ID = 880][Question Description = 180_23_0dia_0CT22_Q80]
. A B.C.D

[Option ID = 3517]
2. C.D,B.A

[Option ID = 3518]
3 D.CAB

[Option ID = 3519]
4 B.C,A.D

[Option ID = 3520]
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[Question ID = 881][Question Description = 181_23_0dia_0CT22_Q81]
. ABCD

[Option ID = 3521]
2. B.A.D.C

[Option ID = 3522]
3. C.B.AD

[Option ID = 3523]
4 D.C.B.A

[Option ID = 3524]
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[Question ID = 882][Question Description = 182_23_0dia_0CT22_Q82]
. A CDB

[Option ID = 3525]
2. AB.C.D

[Option ID = 3526]
3. B.C.A.D

[Option ID = 3527]
4 ADB.C

[Option ID = 3528]
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[Question ID = 883][Question Description = 183_23_0dia_0CT22_Q83]
. A BCD

[Option ID = 3529]
2. C.B.A.D

[Option ID = 3530]
3. B.D.C.A

[Option ID = 3531]
4 D.C,AB

[Option ID = 3532]
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[Question ID = 884][Question Description = 184_23_0dia_0CT22_Q84]
' A/B.C.D

[Option ID = 3533]
2. ACDB

[Option ID = 3534]
3. C.D.AB

[Option ID = 3535]
4 B.C.A.D

[Option ID = 3536]



85 gRefa dRIERIR ZRQIER IR |

A) 02 fbin 616 9ae
B IRl

(© @8 SRRENS B FIDIEN
D) ek guse

06 088 PFI0E aa |

[Question ID = 885][Question Description = 185_23_0dia_0CT22_Q85]
. A BCD

[Option ID = 3537]
2. ACDB

[Option ID = 3538]
3. D.C.A.B

[Option ID = 3539]
4 D,AB.C

[Option ID = 3540]
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QR FIRIET |
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[Question ID = 886][Question Description = 186_23_0dia_0CT22_Q86]
. AGRGI 0 | REIGOE A Q QXIS QUIGHl |

[Option ID = 3541]
2. ABRQGIDR | FIG A Q QOIS QUISHI R Q6% |

[Option ID = 3542]
3 ADRBRER |

[Option ID = 3543]
4 AGRBRO® |

[Option ID = 3544]
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1@ (Reason) R : QOG0 Q8% 92006F |

16 FIEQY ORG MRS @a goa GaF g U2 Qens G‘ﬂﬁﬂ @l |
[Question ID = 887][Question Description = 187_23_0dia_0CT22_Q87]
1. ABROLI O | REIEE A G QUID QYIeH! |

[Option ID = 3545]
2. ABRGOR | FIE A G QTR QUISH R Q6T |

[Option ID = 3546]
3. ACRGBREGM |

[Option ID = 3547]
4 AgmGBRO@ |

[Option ID = 3548]
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(Reason) ‘R’ GI5Q 006 @@ldRE |

QIR (Assertion) A : BFEIR U B AUNSI TOGEE 661610 TR 609! TIET! AHR0Q
QBE |

12 (Reason) R - @106 2ijFa Zkide Q&) ZiNe 2RI TIEE] 96a8Ree 968 |
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[Question ID = 888][Question Description = 188_23_0dia_0CT22_Q88]
1. AGRALIO0R | REIEE A G QIR QUIGH! |

[Option ID = 3549]
2. ABROR | FIg A S QTIS GYISH R 6% |

[Option ID = 3550]

3 ACRGBROW |
[Option ID = 3551]

4 AQRBROS |

[Option ID = 3552]
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[Question ID = 889][Question Description = 189_23_0dia_0CT22_Q89]
. ABR@OI 0 | REIGIE AS QUL QYISHI |

[Option ID = 3553] _
2. ABROQG0R | FIg A Q QTR QUIGH R 69 |

[Option ID = 3554]
3 AD@RBRGM |

[Option ID = 3555]
4 AGRGBROS |

[Option ID = 3556]
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1@ (Reason) R : Q0§ ZREQRIED QS YN FFlE e 2e1E, Q@SNE 4
QIR IR 620G Tsas @Fe @ |

QI6aIR 994 925 185 FF U098 969 AR 0ade aees FE0 99 |
[Question ID = 890][Question Description = 190_23_0dia_0CT22_Q90]
. AG RG0S | REIGE A Q QUL QUISHI |

[Option ID = 3557]
2. ABRQELOR |96 AQ @0da QUiey R‘F{iﬁ?ﬁ |

[Option ID = 3558]
3. ADRGBRGM |

[Option ID = 3559]
4 AGMGBRO® |

[Option ID = 3560]
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626, AR IEPT PI9/5 ERIER ALl 891G 9PIR RAER FE6 SPACES | 98 falrieR
JENRIBID FRENGE 6061 009ER g 6REIEa, 9F d6W gden Bigl @9
PRI 901 99 A0ednl | @Q ¥ QARe 046! 98| aede JaIRIEl BT | YIJsa 94|
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0gf f0Id s2rIPas 200 J0I9IR FR6 GARTEE | AEFIP AGHEBN TARR TGS
6LGRQ EaFcm ZIE6E URIR 01T ¥e° QFle TRnSE 696 |

ARee OIR6 2eada aEa ?

[Question ID = 891][Question Description = 191_23_0dia_0CT22_Q91]
1. OQ6eE 98 e

[Option ID = 3561]

2. Qoln afe ge
[Option ID = 3562]

3. 9| OGS

[Option ID = 3563]
4. 99| DeeaRslR

[Option ID = 3564]
2) Pqumeeed Q08 aaes 0gade aae &a |
FRENE 098 ZBOER ZBE | YR SITINT O96R 600 URY BPEEF 89 JSITAIR
620dml, RQ T 2l9ia 6RIEE JEHE! 591M TR AGITR BEle SPRITER | I8 AQIRaR
JOURIBIE! FIRENGE 606 009Ee ZUgE 6RACTER, 98 S0 J96a B9 RIRIG
CERR 99 9 RGednl 159 17 04Nk 9sue! 98 a98a JaIREl REY | WIka 98|
diriede 25l 06ge 6RIBRUkE | 29 606 ARl @66 TR, UGHe. aned
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[Question ID = 892][Question Description = 192_23_0dia_0CT22_Q92]
198 SR Y0 6941R 990

[Option ID = 3565]
2 BREIR QIRR Q@S

[Option ID = 3566]
3. QRQER Ueed

[Option ID = 3567]
4. RGNS fIede GaIE

[Option ID = 3568]
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FRENG G9f ZIKOE 26T | YR SITI9T O96R 60R TSP QPESF BN TBICEIR
626, AR IEPT PI9/5 ERIER ALl 891G 9PIR RAER FE6 SPACES | 98 falrieR
JENRIBID FRENGE 6061 009ER g 6REIEa, 9F d6W gden Bigl @9
PRI 901 99 A0ednl | @Q ¥ QARe 046! 98| aede JaIRIEl BT | YIJsa 94|
diFiede sl Q8G9 6RIRRAke | 2P 606 AR RIFE TISIgR, OGfe, AR
0gf f0Id s2rIPas 200 J0I9IR FR6 GARTEE | AEFIP AGHEBN TARR TGS
6LGRQ EaFcm ZIE6E URIR 01T ¥e° QFle TRnSE 696 |

QAP AGHG| APES TRIRIE FEF SR AR AFR ?

[Question ID = 893][Question Description = 193_23_0dia_0CT22_Q93]
1. 2816 Alpe deNs G @6F 8QITIRER 218@@ ‘Jiﬁ

[Option ID = 3569]
2. QRSN AU SSIliel

[Option ID = 3570]
3. CoNeIR OER0e aaees Qle

[Option ID = 3571]
4. fipeue dedeais 6a1E QR

[Option ID = 3572]
1) 50 uReead 0088 CaeEl U5Hes Bae 8 |
FRENG G9f ZIKOE 26T | YR SITI9T O96R 60R TSP QPESF BN TBICEIR
626, AR IEPT PI9/5 ERIER ALl 891G 9PIR RAER FE6 SPACES | 98 falrieR
JENRIBID FRENGE 6061 009ER g 6REIEa, 9F d6W gden Bigl @9
PRI 901 99 A0ednl | @Q ¥ QARe 046! 98| aede JaIRIEl BT | YIJsa 94|
diFiede sl Q8G9 6RIRRAke | 2P 606 AR RIFE TISIgR, OGfe, AR
0gf f0Id s2rIPas 200 J0I9IR FR6 GARTEE | AEFIP AGHEBN TARR TGS
6LGRQ EaFcm ZIE6E URIR 01T ¥e° QFle TRnSE 696 |

CGFe 290 feda 9o daKiy IReS SR @F AIFE ?
[Question ID = 894][Question Description = 194_23_0dia_0CT22_Q94]
1. 2IpQ 6Rad AIRes 651 2!

[Option ID = 3573]
2. grraye duel 2ee

[Option ID = 3574]
3 AR 99Q| 29INTea §Y 98

[Option ID = 3575]
4. ARENS F8Y P2 6208 R008 AAI2IR P8 FRQ

[Option ID = 3576]
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FRENG G9f ZIKOE 26T | YR SITI9T O96R 60R TSP QPESF BN TBICEIR
626, AR IEPT PI9/5 ERIER ALl 891G 9PIR RAER FE6 SPACES | 98 falrieR
JENRIBID FRENGE 6061 009ER g 6REIEa, 9F d6W gden Bigl @9
PRI 901 99 A0ednl | @Q ¥ QARe 046! 98| aede JaIRIEl BT | YIJsa 94|
diFiede sl Q8G9 6RIRRAke | 2P 606 AR RIFE TISIgR, OGfe, AR
0gf f0Id s2rIPas 200 J0I9IR FR6 GARTEE | AEFIP AGHEBN TARR TGS
6LGRQ EaFcm ZIE6E URIR 01T ¥e° QFle TRnSE 696 |

TIQ B 9Oi6 CRFAIFR STGRN JUEIR 6RG QIR 2TE ?

[Question ID = 895][Question Description = 195_23_0dia_0CT22_Q95]
1.

2.

3.

4.

Qfeia

[Option ID = 3577]

ZREe

[Option ID = 3578]

i

[Option ID = 3579]

Slmiey

[Option ID = 3580]
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QECE | 6ReF6RY, RlRNEY AOTYIR J9F 60IEY 60N BReR. @] wEe
Q06 erEa 62 0960 Q6T | 9FIC aSeer KA, §Q URRHR AIEE JFIGIeR
R8F | BIg6 AR 99 5969, 84l JEGRN TIPEE! B8R, JEHRIG ZTEH SRR TEa
£R6R, 6086 Uegea @9, GIRl Pged o8 | Rg QYRS @ e USRS
LRIIRRUES | BIG6E, FITEE 0RGER QIAI SREGEESR AL, CREEEESR TRIRM.
EREEER6R 98, 2ERE 996 29 ZaqY QEIKES Ofde 6991l 09Ida DEHIEE
F6S' | 9210 9@8 O e raIde 626, AR 2F QLSRR Zige 29 |

SrAIRES GRQER Q16 Yarld Q8d @EE ?

[Question ID = 896][Question Description = 196_23_0dia_0CT22_Q96]
1.

9] QleeR @O 9896 296

[Option ID = 3581]

2.

<91 90 1T6 A6 98 G6l

[Option ID = 3582]
3. Qe et d8 9| G’eﬁf @ @E{E‘IFFﬂ

[Option ID = 3583]
4 QUines U6 990 e U8 Q98 |

[Option ID = 3584]



2) HeuReRad JI068 Jaeel Jeaee 0ee 8T |

ARG IRER 618 AGQ) ﬁ@ﬂ%ﬁ| P69 | AGIG SOE R 1210 GRIROE 69 66
OECE | 6ReE6Rw, ERIICEGY ATTYIR gﬁg@ 85IIE T 65109 afnar. 6q e
qlolfe 2eeda 62 0gda 96 | 908 afiedr 98ad, &9 UdedR RIS JAEYeR
R6% | 9Ige AREH 94 5960, 6die FEGNY TS B8R, TN T9eH YEIRIR TG
E06Q, 606 UG g, CRl Fi6 9o | oRig QUEe @ Pba 2SR
QIINIRROLE | HIESE, PIBTE TREER Q6 SREEERSH BY, EREGERER TR,
6R6E6R6R GI98, 26eE 996 29| Zaqy QEIKEs CfdR 6291 091de ZeHIOE
265 | 216 998 089 R IR 696R. JIRide @ QESe6R TIge 249 |

66l 208 FEeE 9o ?

[Question ID = 897][Question Description = 197_23_0dia_0CT22_Q97]

1.

2.

3.

4.

FEidG eLleygl

[Option ID = 3585]
QEQ SiF] 06 QUTIR

[Option ID = 3586]
186 AIPELE6 IQGE

[Option ID = 3587]
RINLIR 2PUIQLG BE6IE

[Option ID = 3588]

3 Heursead 068 Jaeel 9gaee 0ee Y |

ARG IRV 616 AGQ) ﬁ@ﬂ%ﬁ| P67 | AGIG SO ORY 9210 GIROE 619 §F
QE2E | 6ReE6RT, ERIIREGY ACeIR gﬁg@ 85IIE T 66109 afineR. g e
g0l 2ot 67 0980 R6F | 966 afear AUd, §q URRHR AIEE JIGYeR
R6F | PIge AREH 94 5969, 6die TEGNY TSNS BER, THEIE ATEH YRR T
606G, 6061 Uegee g, Gl Fi6 9o | i QUee @ fba 2SR
QRIS | BTG, PIETE TRSER QI SaEEERER FT. EREEERER TRIRL,
ER6E6R6R G196, ARG 996 29| ZEqN QEIKEs CRdR 6291 091de DsHIOE
Q65 | 1916 g98 009 R TrURe 696R. dRide 2f QES96R TIge 249 |

QUGG B RIGEIE UHRER QIR 89 200 sIRAN 7

[Question ID = 898][Question Description = 198_23_0dia_0CT22_Q98]

1.

2.

3.

4.

REQ LR
[Option ID = 3589]
LREa @%ﬁﬁ eI

[Option ID = 3590]
RO-IRIRG, AE-20rd U FEaIIgR Ve 206 621Ral |

[Option ID = 3591]
2eE B UQIRM U8 6aeR PRIRIGE GoR PeEE 66 |

[Option ID = 3592]



1) Gp TReeas 066 Uaee] JgEes B8R B |

TARe OSSR 6210 299 ﬁﬁ’ﬂ%ﬂ| P69 | AGIG SOE R 1210 GRIROE 69 66
OF2E | 6ROT6REY, SRlIREEY AOTYIR JRE 650 6 CBRER. &Y wEe
qlolfe 2eeda 62 0gda 96 | 908 afiedr 98ad, &9 UdedR RIS JAEYeR
269 | PIge AR 99 5967, 6dlg TSR TIONK! B8R, AEHRIE TTTH Zeinie Tl
E06Q, 606 UG g, CRl Fi6 9o | oRig QUEe @ Pba 2SR
QIINIRROLE | HIESE, PIBTE TREER Q6 SREEERSH BY, EREEERER TRIRL,
6R6E6R6R GI98, 26eE 996 29| Zaqy QEIKEs CfdR 6291 091de ZeHIOE
d6s’ | 92I OP8 UReeR UGS 6260, dRde of ORSR6Ss 29T 249 |

dioife ans aeade Das @'e ?

[Question ID = 899][Question Description = 199_23_0dia_0CT22_Q99]

1.

2.

3.

4.

damyier diden d

[Option ID = 3593]
AR ST QT

[Option ID = 3594]
PRI QUIES

[Option ID = 3595]
2amNIe Je8 2-4 dieet

[Option ID = 3596]

%) HeuReead 068 Jaeel dEee aee a2 |

caee OAesR 6916 999 ﬁ@ﬂ%ﬁ| Q6% | AR SR GRY Y210 UINeR O 66l
QE2E | ERTF6RET, RICRINEY ATTRIR JRE 6 6o CEiRGk, &g aFe
Q016 UerEa 62 0gta 967 | gRIE afear AKUd, §Q AR AIEE JIBgeR
QEF | 9196 AR 99 5960, 84l JEERY TISEE B8R, IRHRIG ZTEH L8INIR TEa
ERER, 606 degies @9, 618 966 o8 | fRIg 4R @ fBe Eed
QLICRROES | @i@0e, FIECE JROER QA REEEEER B4, EREG6RER CaIRL,
6R6E606R GG, 2906 966 29| ZeaU IKEs afdie sRTIQRI UQIdR BeE
@68’ | Y910 JP8 UOReR TURE 676, QIR 9F QLSRR TIge 29 |

QRide UeRER IR /' ?

[Question ID = 900][Question Description = 200_23_0dia_0CT22_Q100]

1.

2.

3.

4.

806-94, 689-06@0IG 0G0 aR

[Option ID = 3597]
sOA-FiRed afear

[Option ID = 3598]
oo ZENgR QaE

[Option ID = 3599]
AIeQa g6 aRa) IS

[Option ID = 3600]

Topic:- 12_GP_SH2_Set1_A



R The followinz table presentz the details about the number of students enrolled in three
different academic programmes namely. BA., B.C.A and B.B.A in five different colleges

(A-E) during the year 2020. Based on the data in the table. answer the questions 1-5:

College-wise enrollment of students

College | Academic programme
BA |BCA | BEBEA

A 275 | 350 425

475
C 325 | 300 325

D 450 | 375 425
E 325 | 425 225

Frfefiga arofl &d 2020 i s@fa 4 ofe sEm-wem FerE (AE) § 99 fba-fim s s
A, did s A, B, g it et ) den % an G fam wea w5l 21 anof § foo
Mg (ETE) WO, -5 9l % It g

Frers-an faenfe=) = Fmmea

EaE! eRTaTTEeh I

i 410,

FS LS

450 375 475

325 4325 225

= O 2| =

What is the average number of students studving B.C.A. in all the five colleges together?

(1) 365 (Z) 395
(3) 350 (4) 355

i afE e ° ves oy A e, w1 sere w0 R Taenfel ) sfem gen wn 20

(1) 362 (2) 385
(3) 330 (4) 355

[Question ID = 1051][Question Description = 101_00_General_45_0CT22_Q01]
1. 1 [Option ID = 4201]
2. 2 [Option ID = 4202]
3. 3 [Option ID = 4203]
4. 4 [Option ID = 4204]



2) The followinz table presentz the details about the number of students enrolled in three
different academic programmes namely. BA., B.C.A and B.B.A in five different colleges

(A-E) during the year 2020. Based on the data in the table. answer the questions 1-5:

College-wise enrollment of students

College | Academic programme
BA. |B.CA. | BBA,

A 275 | 350 425
B 300 | 325 AT5
C 325 | 300 325
D 450 | 375 125
E 325 | 425 225

fratafas gl & 2020 61 3@fa 4 9l sFF-30m S (AE) ° 99 - st T
diu., i diu. s i, 2, s qitea faenfdai 6 gen % an d faeon wed w5 2) gl | foo
M0 (ER1) W oIaE, 1-5 9 o 3w dfeu

Frers-an faenfe=) = Fmmea

i 410,

FS LS

450 375 475

325 4325 225

= O 2| =

What 1s the respective ratio of total number of students studying in B.C.A. in the colleges C
and E together to those studyving in B.A. in the colleges A and B together?

(1) 24 .23 2y 25:27
(3) 29: 23 (4) 29:327

C 31 E s § v @ # #1340, § werm w0 feafedi o A st B wer § v my | A,
Ao T el F Fe Hen w e - 3en S w9 27

(1) 24 - 323 (2) 26

L

7
(3) 29: 23 (4) 29:27

[Question ID = 1052][Question Description = 102_00_General_45_0CT22_Q02]
1. 1 [Option ID = 4205]
2. 2 [Option ID = 4206]
3. 3 [Option ID = 4207]
4. 4 [Option ID = 4208]



3) The following table presentz the details about the number of students enrolled in three
different academic programmes namely. BA. B.C.A and B.B.A. in five different colleges

(A-E) during the vear 2020, Based on the data in the table. answer the guestions 1-5:

College-wise enrollment of students

College | Academic programme
BA. | B.CA. | BBA,

A 275 | 350 425
300 | 325 475

C 325 | 300 325
D 450 | 375 425
E 325 | 425 225

fr=feafaa grofi =d 2020 61 @M § 99 So-3E ST AE) 3 @9 fm-Ta s s
i, didi i A, 2, o it fenfd 6 sen % an i faaw weEn s 2 A | fo
MU B (211) T oIaiE, 1-5 9w & 3w dfeu

e -gn Taenfe= =1 IpmeA

v, | "o, | Hidie,

450 375 425

= 9 2 =@

325 4325 225

What is the respective ratio of total number of students studyving in B.C.A.. B.A. and B.B.A.
in all the collezes together?

(1) 71 :67: 75 (2) 67:71:7b
(3) 71:68:75 (4) 75:71:68

ofl wrers 4 v oy 4 AL, Ao s o § serm e w il ) oge den w0 sem-
FeA— HIIE 1 B

1
i

(1) T1:867:75 (2) 6
(3) 71:88:75 (4

o
=]

i
1:6

-

|

L
-~
o

[Question ID = 1053][Question Description = 103_00_General_45_0CT22_Q03]
1. 1 [Option ID = 4209]
2. 2 [Option ID = 4210]
3. 3 [Option ID = 4211]
4. 4 [Option ID = 4212]



4 The followinz table presentz the details about the number of students enrolled in three
different academiec programmes namely. B.A. B.C.A and B.B.A. in five different colleges

(A-E) during the year 2020. Based on the data in the table. answer the questions 1-5:

College-wise enrollment of students

College | Academic programme

BA |BCA | BBA

A 275 | 350 425
B 300 | 325 475
C 325 | 300

325
D 450 | 375 425
225

E 325 | 4925

Frfafiaa aroft ad 2020 6 s@fa o ofe sem-3em SEE AE) O dF fm-Toa seeefies o
Ao, A o A 2, qmifea frenfdEi 6 wen % an i faa wag s 20awh § foo
T T (E1R) W OAENE, 1-5 9 &I dfan

Frer-an faenfes) w1 Fmmea

A, | =g, | didEdio

A | 275 | 350 425
300 | 325 475
325 | 300 325
450 | 375 425

325 4325 225

= O 2| =

Number of students studving in B.B.A. in college C forms approximately what percent of the
total number of students studving in B.B.A. in all the five colleges together?

(1) 21% 2y 39%

(3) 33% 4y 17%

i afe e 0 UE WY § @A § seggd e 2 faenfua ) e g e o 8 il |
e &1 18 fnfe = e gfaws &0 27

(1) 21% (2)  39%
(3) 33% (4) 17%

[Question ID = 1054][Question Description = 104_00_General_45_0CT22_Q04]
1. 1 [Option ID = 4213]
2. 2 [Option ID = 4214]
3. 3 [Option ID = 4215]



4. 4 [Option ID = 4216]
>) The followinz table presemtz the details about the number of students enrolled in three
different academic programmes namely. BA., B.C.A and B.B.A in five different colleges

(A-E) during the year 2020. Based on the data in the table. answer the questions 1-5:

College-wise enrellment of students

College | Academic programme
BA |BCA |BEBA
A 275 350 43;

2
B 300 | 325 475
C 325 | 300 325
D 450 | 375 125
E 325 | 425 225

frfafas aroft ad 2020 6 s@fa § ofe sem-3em SEE AE) § d6 fem-Toa seeefis o
diu,, @ e, s i, 2, e At faenfd @ e % e 9 faaon wea s ] @l § foo
T T (E11) W oIaE, 1-35 9 &% 3R dten .

FrerE-an o= = 9

"giu. | "o

A5

& 4.1,

A | 975 350 495

300 325 475
325 300 325
450 375 425

326 4325 225

= 9 = =

Number of students studving in B.A. in colleze B forms what percent of total number of
students studying in all the programmes together in the same college? (rounded off to two
digits after decimal)

(1) 26.86% (Z) 2V.27T%

(3) 29.84% (4) 32.51%

U% @ Fctd H Uk @1 H owdfi s 8 s aa @ T f ge gen d see B oA i |
eya & 17 faenfe &) gen fea ufdem 87 (29" & 912 21 A% 9%6)

(1)  26.86% 2) 27.27%

(3)  29.84% 4) 32.51%

[Question ID = 1055][Question Description = 105_00_General_45_0CT22_Q05]
1. 1 [Option ID = 4217]



2. 2 [Option ID = 4218]
3. 3 [Option ID = 4219]
4. 4 [Option ID = 4220]

Topic:- 12_GP_SH2_Set1_B

1) The Kaufman Assessment Battery for children contains P subtests across the various ages.

but a maximum of @ subtest is administered to any one child. where (P. Q) =

(1) (10. 5) (2) (12, 8)
(3) (16.13) (4) (20,15)

el & U wiEH wEEEe J2 5 Pe-fia el & foe Poag-giem #1 sfde @ R,
feafem stfusman Q sa-vfiem &1 &l vs arete w1 @) foran =10 2, 5181 (P Q) = l

(1) (10..5) 2y {12.8)
(3) (16. 13) (4) (20.15)

[Question ID = 1056][Question Description = 106_00_General_45_0CT22_Q06]
1. 1 [Option ID = 4221]
2. 2 [Option ID = 4222]
3. 3 [Option ID = 4223]
4. 4 [Option ID = 4224]

2) PBased on taxonomy of educational objectives, the ability to understand the meaning of
material 1= known as

(1) Enowledge (2) Responding
(3) Comprehension (4) Application

SNferen Fawei & i g venia el F WY 1 guee 1 g & e w9 H S 8 e
(1 (2)  gfefsRaT &
(3) Guz (4) 39

[Question ID = 1057][Question Description = 107_00_General_45_0CT22_Q07]
1. 1 [Option ID = 4225]
2. 2 [Option ID = 4226]
3. 3 [Option ID = 4227]
4. 4 [Option ID = 4228]



3) Which among the following are used as General Aptitude Tests?
(A)  Test of Cognitive Skills (TCS)
(B) Otis — Lennon School Ability Test (OLSAT)
(C) Metropolitan Achievement Test (MAT)
(D)  Boehm test of Basic Conceptz-Revised (Boelim—R)

(E) Thurstone test

Choose the correct answer from the options given below :

(1) (A), (B), (C)only
(2)  (A). (B). (D) only
(3)  (B). (C). (D) only
(4) (C), (D), (E) only

fereferfin @ & Folt e srfisfy gliemil % =9 § wge fao o #2

(A)  HIERYE R F g (F i uy)

By  HAlfem == faererm S yiem (o0 ve vy d)

(C)  wgMifeied Iverfed whem (vm v )

(D)  rsfom @ s At -y -fraese (EfEm-sm)

(E) w2 qhigm

Hret feu e fasmedi O A Wl 3A ) =Ea Fifaw

(1)  =Ad (A). (B). (C)

(2) %4 (A). (B). (D)

(3) %44 (B). (C). (D)

(4 %4 (0), (D). (E)
[Question ID = 1058][Question Description = 108_00_General_45_0CT22_Q08]
1. 1 [Option ID = 4229]
2. 2 [Option ID = 4230]

3. 3 [Option ID = 4231]
4. 4 [Option ID = 4232]



4) For classroom testing. the length of the test will vary depending upon
(A) Purpose of teat
(B) Kinds of items used
(C) EKnowledge of subject teacher
(D)  Age and ability of the pupils tested

(E) Instructional objective tested

Choose the most appropriate answer from the options given below :

(1) (A). (B), (C), (D) only
(2) (A), (C), (D), (E) only
(3) (A (B). (D). (E) only
(4)  (B), (C), (D), (E) only

& afiep &3 foo ofieqn & g/ safa fim aef o B sof .
(A e # EE

(B)  WIF el & WER

(Cy Tz & forers &1 54

(D) e v e faentda 61 @y s g

(B)  3F<onH 3evg famam wiam faan 7w #)

41 fen w0 faeredi U 8 w=E 399 I0 & g5 Ffu

(1)  #ad (A). (B), (C), (D)

(2)  Fad (A), (). (D). (B)

(3)  FAd (A), (B). (D). (E)

(4) %A (B), (C). (D). (E)
[Question ID = 1059][Question Description = 109_00_General_45_0CT22_Q09]
1. 1 [Option ID = 4233]
2. 2 [Option ID = 4234]

3. 3 [Option ID = 4235]
4. 4 [Option ID = 4236]



5)

(A)
(B)
(©
(D)

Mateh List I with List IT.

List I
(Name of Intelligence Test)
WAIS-R

WISC-R
WPPSI-R
Kaufman-ABC

List I
(Applicable to age group)
() forages3to71
(II) foragesBtol6
(IIT) for ages 16 to 74
(IV) forages 21 to127

Choose the correct answer from the options given below :

(1
(2)
(3
4

(A)-IL). (B)-(I1). (C)-(D). (D)-(IV)
(A)-(ID), (B)-(I), (C)-(IV). (D)-(IID
(A)I), (B)-IV), (C)-(II), (D)-«(ID)
(A)-(IV). (B)-(III). (C)-IT). (D)-(D

T o W14 JA1-11 =) foeae ifam
g1

(ifge v &1 9 )
WAIS-R

(A)
(B)
(C)
(D)

WISC-R

WPPSLR
FHEIH-ABC

111
(Fm m wgz & feo @m & 21)
M 3ATL & g+ fer
) 64 16a4 &l 5 & fee
(II) 16H 74 44 i 219 % feu
(IV) 21 #4121 ad &1 31y % ferm

d1= fou v fgwedq) § 7 |9 39 1 =999 Fifhu .

(4)

(A)III). (B)-(ID). (C)-(I). (D)-(IV)
(AID). (B)-(D). (C)-(IV), (D)-(III)
(A)-0). (B)-(IV), (C)-(I1D). (D)~ID)
(A)-(IV), (B)-(IID), (C)-(IT), (D)-(D

[Question ID = 1060][Question Description = 110_00_General_45_0CT22_Q10]

A WN -

1 [Option ID = 4237]
2 [Option ID = 4238]
3 [Option ID = 4239]
4 [Option ID = 4240]



6) Given below are two statements :

Statement (I) :  If there are few extreme scores in the distribution. mode will be the most
appropriate measure of central tendenecy.

Statement (IT) ; Mean deviation is the most sophisticated measure of dispersion of
distribution.

In the hight of the above statements, choose the correct answer from the options given
helow :

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (IT) are false
(3) Statement () 1s true but Statement (II) 1s false
(4) Statement (I) is false but Statement (II) 1s true

4= 71 & oo & -

wH (D) :  ufg forelt faemu O oo sredifoes smomes 2,01 weers dia il o waifass soge am &)
e (1) : oreg ferereta s gk 1 weifas ayua o 2

IYTRE F9E % e °, 4 fou o faeeq 0 B wd 3w e 9 Fif

(1)  &ud (D) 30 1) g1 5o 2

(2) A (D) 3 1D TH 35F 7

(8) A (D) 5 2, i F2H (1D 3759 2

(4) & (1) #5932, dfd ®2H (D) 5 2
[Question ID = 1061][Question Description = 111_00_General_45_0CT22_Q11]
1. 1 [Option ID = 4241]
2. 2 [Option ID = 4242]

3. 3 [Option ID = 4243]
4. 4 [Option ID = 4244]

7)  If a reasearcher has to compare the means across three groups gquantitatively, which among

the following will be the most appropriate statistical technique for this purpose
(1) Correlation analysis {2) Regression analysis
(3) Chi-square test (4) Analysis of variance

gfe fomdl siusral 1 7 wgE J ofogm F anygr o wemE H A 8 A o3e s et
i | @ wEifus 39 JifeTs awrs 20l

(1) He-Hay fagemm (2) ufrms fasemo
(3)  wr-a e (4)  wEry fasem

[Question ID = 1062][Question Description = 112_00_General_45_0CT22_Q12]
1. 1 [Option ID = 4245]
2. 2 [Option ID = 4246]
3. 3 [Option ID = 4247]
4. 4 [Option ID = 4248]



8)  Match List T with List TI

ListI
Referencing Style
{A) APA Style
(B) MLA Style

(C)  Chicago Style

(D) IEEE Style

Last IT
Format of Citation

() Author. date.... (Sharma: Kailesh
suggested photochromatic effect
(2008))

(II) (Author Surname. Year)..... (Sharma,
2006)

(IIT) Number in square brackets...... This
theory was first put forward in 2006
[10]

(IV) Authorname m text. allows
footnotes. .... Sharma develops this
argument (67-69)

Choose the correct answer from the options given below :

(1) (A)-(IID). (B)-(IL). (C)-(IV). (D)D)
(2) (AM(D. (B)-(IIL). (C)-(1D). (D)-{IV)
(3) (A)-(IL). (B)-(IV). (C)-(D). (D)~(III)
(4) (A)-(IV). (B)-(I). (C)-(I1I). (D)-(IT)

il T oh g1 & e dif .
AT

(A)  APA

(B) MLA 3=

(€  Tormm S0

(D) IEEE i

44 fa mm famwed § A 9 33w 9w Fifau
(1) (AT, B)-D. (C)-AV). D)D)
(2) (A)(I). (B)-11I). (C)-(I). (D)-(IV)
(3 (A)-(IL), (B)-(IV). (C)-(D). (D)-(I1T)
(4) (A)-(IV). (B)-(T). (C)-(III). (DY-(ID)

AT
T o ATEY

e, =22 ... (wwi, demw Eues

wIER R gHa2 (2006))

(3712 EHE, $90).... (9091 2006)

(II) a0 &4 e s ... fen warfi am e

T2 HHES 39 2006 (10)
HER 94 g I, UETH e I
2aee fou smiE=za (67-69)

[Question ID = 1063][Question Description = 113_00_General_45_0CT22_Q13]

1. 1 [Option ID = 4249]
2. 2 [Option ID = 4250]
3. 3 [Option ID = 4251]
4. 4 [Option ID = 4252]

9)

(1) CSIR
(3) ICSSR

‘Scheme for Trans-disciplinary Research for India’s Developing economy’ was initiated by
(2) DST

(4 UGC

w=hm Fr g -fefaferd frad G sfrears 2aafm gemndl fees gr a6

(1) It vy 318 30
(3) g e

4.9

[Question ID = 1064][Question Description = 114_00_General_45_0CT22_Q14]

1. 1 [Option ID = 4253]
2. 2 [Option ID = 4254]
3. 3 [Option ID = 4255]
4. 4 [Option ID = 4256]



10 Eyror can creep into interview data due to following factors :

(A) Failure to record answers acurately

(B) Influencing the response of the respondents
(C)  Interviewees are intelligent

(D) Interviewer is able to explain the question well

(E)  Failure to establish appropriate interview envirenment

Choose the carrect answer from the options given below :

(1) {A). (B). (D) only
(2 (A), (B). (E) only
(3) (B), (C). (D) only
(4) (C), (D), (E) only

fa=feriiaa @rahi & &r sadian d gfe an 21 A 8 |
(A) 3 & G A1 W e w1 fawen)

(B) TR % Uege @) GuTied e

(C)  HEIEhI &3arel gfgur 7

(D) H&TERR earen 9ol 1 sreEll ave syren @ 4 Had A)
(E)  HIE@ER % felu sqeqes geia 296 1 fasea)

49 few o fasedl § | 1E 39 %1 =999 i -

(1) @& (A), (B), (D)
(2) &4 (A), (B). (E)
(3) A (B). (C). (D)
(4) %4 (C). (D). (E)

[Question ID = 1065][Question Description = 115_00_General_45_0CT22_Q15]
1. 1 [Option ID = 4257]
2. 2 [Option ID = 4258]
3. 3 [Option ID = 4259]
4. 4 [Option ID = 4260]

1) When the receiver assigns a meaning to a language symbol in communication. it is called
(1) Response (2) Perception
{3 Reverse labeling (4) Meaning mapping

HUYo § wE U T v g wdrer & feo el fafde g 2, =9 wEa 2y
(D i (2) UrgE =Y
(3)  ufdadl safan (fEd wafem) (4) 31 = 5 f==m

[Question ID = 1066][Question Description = 116_00_General_45_0CT22_Q16]
1. 1 [Option ID = 4261]
2. 2 [Option ID = 4262]
3. 3 [Option ID = 4263]
4. 4 [Option ID = 4264]



12)

A teacher. to be an effective communiecator. should resort to

(A)
(B)
(©)
(D)
(E)

Acquisition of elitist background

Natural flow of information

Voluntary support to learning

A system of immediate and regular feedback
Convoluted presentations

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A), (B). (C) only
(B). (C), (D) only
(C). (D), (E) only
(A). (D). (E) only

o ToIETeR 61, U UHTE AUNERA BF & o e g o fea-fen =) wem o =niee e

(A)
(B)
(©)
(D)
(E)

w98 gy %1 azn #
AT w1 Al v
siferm % oo of=ss ooy

4 Tegu mu farsed 0 4 UE I =9 i

(L)
(2)
(3)
(4)

F4e (A), (B). (C)
4 (B). (C). (D)
F4¢ (C), (D). (E)
&ae (A), (D). (E)

[Question ID = 1067][Question Description = 117_00_General_45_0CT22_Q17]
1. 1 [Option ID = 4265]
2. 2 [Option ID = 4266]
3. 3 [Option ID = 4267]
4. 4 [Option ID = 4268]



13)  Given below are two statements :

Statement I : The ritualistic view of communication 1s that 1t 1s not used for the

promotion of self-interest.

Statement IT ; In contrast, the transmission mode of communication considers it as an

instrumental act.

In the light of the above statements, choose the most approprigte gnswer answer from the

options given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement T and Statement IT are incorrect
(3) Statement I 1s correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement 1T 1s correct
9 & e fau e 3 .
weH (1) : a6 WEe e 2 % gs @i 0 g 2dq 968 913w 2 2

e (D) : 29 farefia, |imw) &) gare yhn 34 9l &6 & =9 4§ g 2|
ITIF HYH * wAre O, A= fqu e e 4 | wen 390 I F 95 fifau

(D @A (D 3R (qD gH |58 2
(2) & (D) 3N (1) g e 2
(3) & (D HA 2, | &A1) TEh R

(4)  &wE (D) 7EA 2, iR e (I =59 8

[Question ID = 1068][Question Description = 118_00_General_45_0CT22_Q18]
1. 1 [Option ID = 4269]
2. 2 [Option ID = 4270]
3. 3 [Option ID = 4271]
4. 4 [Option ID = 4272]



14)  The application of John Dewey's theory to communication issues in sequence is :

(A) The criteria

(B) The analysis

(C) The selection and execution
(D) The problem

(E) The possible solutions

Choose the correct answer from the options given below :

(1)  (B). (C). (E). (D). (A) only
(2) (C). (D). (B). (A). (E) only
(3) (A). (C). (D). (E). (B) only
(4) (D), (A, (E). (B). (C) only

am i sH e s fagi w smm m wg a2

(A) °EH

(B)  Fawemm

(C) =34 3 Fma=rad
(D) qHuEI

(E) murfaa &«

49 feu mu faere § 8 | 39 & Jaq Hifsu

(1) (B). (C). (E). (D). (A)

(2)  (C), (D), (B), (A). (E)

(3) (A). (C), (D). (). (B)

4) (D), (&), (E), (B). (C)
[Question ID = 1069][Question Description = 119_00_General_45_0CT22_Q19]
1. 1 [Option ID = 4273]
2. 2 [Option ID = 4274]

3. 3 [Option ID = 4275]
4. 4 [Option ID = 4276]



15)  Mateh List T with List IT

ListI Tast IT
{Communication variety) (Description)
(A) Paralanguage (). Objects and 1mages with cultural
context
(B) Proxemics (I) Hesitation noise
(C) Colour (IIT) Personal space
(D)  Artifact (IV) Dafferent moods

Choose the correct answer from the options given below :
(1) (A)-T). (B)-(III). (C)-(IV), (D)-(D)
(2) (AMIIL). (B)-(IV). (C)-(I), (D)-(II)
(3)  (AIV). B)D). (O)-(ID). (D)-(III)
(4) (A, B)ID). (C)-(IV}, (D)-(IID)

-1 & ¥y HH-IL & ferm i
T HHIIT
s ) S
(A) SRS () @ e v @ @ i fo
(B) i e am Hwreh
(€ ™ (T Sferan 32
(D) FeTid V) Fra-uresi

4= fev o Feepen o %{ﬂ’a‘rw.amﬁm i

(1) (A)A(IL), (B)-(I1I), (C)-(IV). (D)-(T)

(2) {(A)(IID). (B)-(IV). (C)-(I). (D)-(II)

{3 (A)-(IV). (B)-(D). (C)-(IT}. (D)-(1LI}

4 (A)-D), B)-ID. (C)-(IV), (D)-(IIT)

[Question ID = 1070][Question Description = 120_00_General_45_0CT22_Q20]
1. 1 [Option ID = 4277]
2. 2 [Option ID = 4278]

3. 3 [Option ID = 4279]
4. 4 [Option ID = 4280]

16) What comes next in the following sequence?

ET,JR. MP. PN.?
(1) SM (2) EM
3) SL (4) RL

fpfrfan @ & sgu o =0 s

ET, JR. MP. PN. ?

(1) SM (2) EM

(3) SL (4) RL

[Question ID = 1071][Question Description = 121_00_General_45_0CT22_Q21]
1. 1 [Option ID = 4281]
2. 2 [Option ID = 4282]
3. 3 [Option ID = 4283]
4. 4 [Option ID = 4284]



17)  Given below are two statements :

Statement 1 : The length of a tree increases at the rate of 5% every year on its previous
vear's length. If it iz 2.0 feet now. 1t will increase 0.31525 feet in three
Vears.

Statement IT : A vendor sells an 1item for T 56 making a profit of 40%. The cost price of the
Item is 7 40,

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement T 1s true but Statement IT 1s false
(4) Statement I 1= false but Statement IT is true

19 g1 Fo few e #

e[ [0): Tl g 6 card ufa o foga ad 6 das 3 5% wfus 6 @ 4 9g 96 21 afz 5@ 22
e 2 Al [ b 0.31525 $1e "8 @

F () : +2 fmm forl a0 1 56 %90 4 97 40% &9 FH 2| 39 95 F aFE 579 40 53 2

WA FE & A O, 9 feu o e O 3 #E 3 &1 99 Fifau

(1) &4 (D) 3R () &1 &= 2

(2)  wUH (D) 3R 1D &1 3Ee 2

(3) WU (D) HE 2, dfea %ge (1) 375 2
(4) e (D) 3197 2, wifed &9 (1) 97 2

[Question ID = 1072][Question Description = 122_00_General_45_0CT22_Q22]
1. 1 [Option ID = 4285]
2. 2 [Option ID = 4286]
3. 3 [Option ID = 4287]
4. 4 [Option ID = 4288]

18) Every hour the number of bacteria in a sample doubles. If the omginal number of bactera is

100, and 50 bacteria are removed every two hours, after five hours, there are
(68 2500 bacteria (2) 2700 bacteria
(3) 1350 bactena (4) 2800 bacteria
ferefl Hogm 4 ufa 92 FAfen 1 e deEl @1 od 21 afe S=hfen 4 ge gm0 100 2 3 wS

2 % A 50 Jfen wed WA 2 @ w92 e 3k G Bl
(1) 2500 H&#TT1 (2) 2700 =i

(3) 1350 g (4) 2800 =#Fdfrn

[Question ID = 1073][Question Description = 123_00_General_45_0CT22_Q23]
1. 1 [Option ID = 4289]
2. 2 [Option ID = 4290]
3. 3 [Option ID = 4291]
4. 4 [Option ID = 4292]



19)
which direction is Ramesh in now?
(1) North (2) South
(3) East 4y West

a0y 390 fesn 4 @ren 2, f grfi fesn 4 g 2, @9 qa: grdi fewn O qean B 3 aervem 9rfl a0 A
2| @ Y frm feom 1 22

(1) 3¢ (2) =fam
(3) w4 (4) ofsam

[Question ID = 1074][Question Description = 124_00_General_45_0CT22_Q24]
1. 1 [Option ID = 4293]
2. 2 [Option ID = 4294]
3. 3 [Option ID = 4295]
4. 4 [Option ID = 4296]

20)  (Consider the following statements:

Ramesh goes to North. then turns right. then turns right again and then goes to the left. In

(A) A train travelling 180 km/hr taok 5.4 seconds to cross a stationary man. Length of the

train is 250 m.
(B) Ifabuscovers 172 km in 4 hours. the speed of the bus is 154.8 m/s.

(C) If25X+25Y¥=110, the average of X and Y15 2.2

Which of the above statements is/are correct?
(1) (B) and (C) only

(2) (A) and (B) only

(3) (C) only

(4) (A) and (C) only

fraferga #eel w faan $ifso

(A) 180 Frerndier ufa =2 4 tFR 8 Feraed TerEl & e we st # 9 e 4 5.4 deve
| TAEl F dmE 250 g 2

(B) dfa &1 @8 4 92 § 172 farerndrer ol 2 a1 =) 1 nfa 2 154.8 dier ufq vz

(C) e 25X+25¥Y=1102 @1 X 31 Y& 37Hd 2.2 2

4= feu o faemedl O A 5 39 @ =9 Ffau

(1) & (B) 3 (C)

(2)  F4FE (A) 31 (B)

(3)  FdaA (C)

(4)  FEA (A) 3N (C)
[Question ID = 1075][Question Description = 125_00_General_45_0CT22_Q25]
1. 1 [Option ID = 4297]
2. 2 [Option ID = 4298]

3. 3 [Option ID = 4299]
4. 4 [Option ID = 4300]



21)

Given below are two statements : One is labelled as Assertion (A) and the other iz labelled as
Reason (R).

Assertion (A): In a valid categoral syllogism, 1f a term 1s distributed in the conclusion.

then 1t must be distributed in the premises.

Reaszon (R) : The coneclusion of a valid argument cannot assert any more than is

contained in the premises.

In the light of the above statements. Choose the correct answer from the options given below :

(L)
(2)
(3)

(4

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) is true but (R) 1s false

(A) is false but (R) 1s true

Hr9 @1 FeH fan o 2 uk HUEeH (Assertion A) % 9 1 fefigd 2 @ g9 % FFU (Reason R)

HEIY :

AT (A) : ol da =g -ar 4, afe %8 ve fd O faafm 2, @ 38 smavas w9 0 9% 9

o ot i & =nfeu|

FW (R) - feedl s w1 o1 Forserd ok v St sem stfiess e A & e

I HYA & AT 1, 419 fau e fasmen 4 | g5d 3w a8 Eilm

(1)
(2)
(3)

@)

(A) 31 (R) 21 504 & 311 (R), (A) <l ¥ = 2
(A) 3l (R) €1 w74 2, @A (R). (A) =1 58l s 44 2
(A) B57 2, wihd (R) 3787 2

(A) 397 2, difF (R) 9 2

[Question ID = 1076][Question Description = 126_00_General_45_0CT22_Q26]
1. 1 [Option ID = 4301]
2. 2 [Option ID = 4302]
3. 3 [Option ID = 4303]
4. 4 [Option ID = 4304]



22) Identify the formal fallacy committed in the argument :
ATl eriminals are human beings,
All saints are human beings

Therefore all saints are criminals.

(1) Fallacy of Tllicit process of Major Term
(2) Fallacy of Tllicit process of Minor Team
(3) Fallacy of undistributed Middle Term
(4 Fallacy of Four Terms

fopeferfaa o 8 s a9 6 vzeEm &+
audj sl g 2 Al
adl 54 W w1 2

a1 ) |Ja s 2 2

(1)  wgwa 92 6l 349 ulwn &1 @ g (2) o 9g ) 3y ufsEn @ A4 g
3y  sfuafE ey g2 = T 2 (4) =PI T g

[Question ID = 1077][Question Description = 127_00_General_45_0CT22_Q27]
1. 1 [Option ID = 4305]
2. 2 [Option ID = 4306]
3. 3 [Option ID = 4307]
4. 4 [Option ID = 4308]

23) Identify the fallacy committed in the following argument :
“An elephant is an animal: therefore. a small elephant 1s a small amimal”.

(1) Argument from Ignorance (2) Fallacy of Irrelevant Conelusion
(3) Fallacy of False Cause (4) Fallacy of Equivocation

frefefaa a6 & 76 em 6 gm=m #1
“zIefl U WHET B A U 31 71l U w1 A 20

(1)  SISFE & a6 (2) g e & Ak 9
(3)  TazERw w5 oAb am (4) FHEdF 96 N

[Question ID = 1078][Question Description = 128_00_General_45_0CT22_Q28]
1. 1 [Option ID = 4309]
2. 2 [Option ID = 4310]
3. 3 [Option ID = 4311]
4. 4 [Option ID = 4312]



24)

Given below are two statements :

Statement I : The Nyaya system does not accept Arthapatii as an iIndependent source of

valid knowledge.

Statement I1:  The Nyaya system reduces Arthapatti to an inference of anvayi type.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Poth Statement I and Statement IT are false

(3 Statement I is true but Statement II is false

{4) Statement T is false but Statement IT is true
4= 7 wym feu o F
Fo5 (D) - =T Y] SEMiE F) 99 FH & H=ad 5 6 59§ =fiwmn 38 @ 2l
F4H (1) : =12 ] sirafa s gen s J am e 2

IR YA & HieE 4, S fou m ey O 8 w948 39 @ 9 fifaw

(1)

(2)

(3)

(4)

HeE (D) 30 (1) =1 oy 2
&4A (D) 31 (1) §H1 35 2
T (D) 5 B, @i Fe (1) 3159 2

FHu (D) 315 8, i S99 (1D 77 2

[Question ID = 1079][Question Description = 129_00_General_45_0CT22_Q29]
1. 1 [Option ID = 4313]
2. 2 [Option ID = 4314]
3. 3 [Option ID = 4315]
4. 4 [Option ID = 4316]



25)
Reaszon (R).

Assertion (A) :

Beason (R) :

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

In Samanyatodrsta inference the universal relation between the major
and middle term depends on causal uniformity.

The middle term of the inference is related to the major term neither as a
cause nor as an effect.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1z the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 12 NOT the correct explanation of (A)
(3 (A) 18 true but (R) is false

(4) (A) is false but (R) is true

di @1 ®ua fqu o 2 U 9fUFeH (Assertion A) % ¥4 W feifigd # A1 g4 3% SV (Reason R)

HEQH

HITFEE (A)

= (R) :

HHTEATEE S 0 ATE 300 #d % A da8Y FHOE B amEE R

ST 1 7 % @ 8 A F By H A H e g w g e R

I HYA & e O, Fi= T e faser 4 8 | T = il

(1) (&) 30 R &H w9 i (R), (A) F HA e 2

(@) (A 3R R 4F1 9w, S (R). (A) 1 57 sare T4 2
(3) (A HA 7, dlhd (R) 357 2

(4 (A ¥E 2, dfF R) @ 2

[Question ID = 1080][Question Description = 130_00_General_45_0CT22_Q30]

1. 1 [Option ID = 4317]
2. 2 [Option ID = 4318]
3. 3 [Option ID = 4319]
4. 4 [Option ID = 4320]

26)

With respect to Computers, BIOS is an aeronym for :

(1) Binary Input Qutput Source

(2) Basic Input Output Support

(3) Binary Input Output System

(4) Basic Input Output System

Fegedl F el H, A A o vy foua v Hem 27

(1) =3l 3992 #r3ege 50 (2) fas 9 A3 =4Il

(3) =g R Iy fawm (4) Afaa g 13Ty e

[Question ID = 1081][Question Description = 131_00_General_45_0CT22_Q31]

1. 1 [Option ID = 4321]
2. 2 [Option ID = 4322]
3. 3 [Option ID = 4323]
4. 4 [Option ID = 4324]



27) Identify the correct arrangement of the following storage capacities in the decreasing order

(A) 10 Mega Bytes
(B) 10 Tera bytes
(C) 10 Exa bytes

(D) 10 Yotta bytes

Choose the correct answer from the options given below :

() (D). (©). B (&)
(2) (C). (D), (B). (A4)
(3) (C). (B). (D), (&)
(4) (B). (C). (D). (A
foeifefaa sdzrm smash & wf saEnd s £ oeEn #

(4) 10 T =7y
(B) 10 2 2r5ed
(C) 10 T =T34

(D) 10 9@ =132y

H fou e fempedi § @ @A 3 @1 =9 Hifa

(1) D). (C). (B). (&)
(2) (©). (D). (B). (A)
(3) (C), (B). (D), (A)

(4) (B), (€). (D). (A)

[Question ID = 1082][Question Description = 132_00_General_45_0CT22_Q32]
1. 1 [Option ID = 4325]
2. 2 [Option ID = 4326]
3. 3 [Option ID = 4327]
4. 4 [Option ID = 4328]



28) Given below are two statements with regard to social media :

Statement I : ‘Twitter' is the most well-known microblogeing site.

Statement 11 : Youtube' is the largest video sharing site.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT 1s false

{4) Statement I is false but Statement I is true
Hr 1 e oo o 2 ) e difem & gwfm 2
F4 (D) Zferer Haifus ufag aEwEaiim HEe 2
FH (1) : o 7 Ay 52 difza o w2

I FGA % AT §, 4= feu mu fEeen 8 3 w98 3w &1 999 Sifau

(1)  #2[ (@) 3% (1) o+ 79 2

(2 & () 3R @) aH1 e 2

(3)  ®uH (1) B 2, dfdA $eR (1) 39 2
@) ®A (D) 3 8, ol e (1) 53 2

[Question ID = 1083][Question Description = 133_00_General_45_0CT22_Q33]
1. 1 [Option ID = 4329]
2. 2 [Option ID = 4330]
3. 3 [Option ID = 4331]
4. 4 [Option ID = 4332]



29) Which of the following file formats are suitable for distributing video files across the

internet?
(A) WMV
(B) WAV
(€¢) MIDI
(D) .MP3
(E) MP4

Choose the correct answer from the options given below :
(1) (A) and (D) only
(2) {A) and (E) only
(3) (D) and (E) only

(4) (B) and (C) only

Ffafaa 4 5 #17 § wEa sz gz-e = difed) wreel & e & foe o 47

(A) WMV
(B) WAV
(C) MIDI
(Dy MP3
(E) .MP4

419 fau e fgwmen 8 § 9 I 95 it .

(1)  &ad (A) 57 (D)
(2) %A (A) R (E)
(3) @& (D) 31 (B)
(4) %= (B) 31 (C)

[Question ID = 1084][Question Description = 134_00_General_45_0CT22_Q34]
1. 1 [Option ID = 4333]
2. 2 [Option ID = 4334]
3. 3 [Option ID = 4335]
4. 4 [Option ID = 4336]



30)  Match List I with List IT

LastI List II
{Computer Terms) (Description)
(Ay OMR (I} Used by banks to read codes on a
cheque
(By MICR (IT) prevents unautheorized acecess to a
computer network
(C) RAM (ITI) Marks multiple-choice questions
(D) Firewall (IV) Stores programs and data temporarily

Choose the correct answer from the options given below :

(1) (A, (B)-I). (C)-(II). (D)-IV)
(2) (A, (B)-IV). (C)-(D). (D)1L)
(3) (AII). (B)-(D. (C)-(IV). (D)-(I)
4 (A-D. (B)-I). (C)-(IV), (D)-(ID)

-1 F wrg -1 =1 ferm Hifa
i1 HHI-IT
(et srazyel) (ferem)
(A) 3T T W (D T 9% & w2 B Tgd & fan A6 gE
EE g
(B) uy wmE # 3w (ID fofl Fvger Jead T sFAlaFRd T5e )
TieRdT 2
(C) Ty (D) =afaseda s %1 fafza w2 2
(D) wiara (IV) 9rrmg 3 2/ &) e Y2r & 2

A Teu u faweqi 0 9 @& 30 =1 =99 it

(1)  (A)-IID. B)-(D). (C)«ID). (D)-IV)

(2} (A)-(III). (B)-(IV), (C)-(D. (D)-(ID

(3)  (A)-ID). (B)«(D. (C)-(IV), (D)ID

(4) (A)-(I). (B)-(II0), (C)-(IV). (D)-11}
[Question ID = 1085][Question Description = 135_00_General_45_0CT22_Q35]
1. 1 [Option ID = 4337]
2. 2 [Option ID = 4338]

3. 3 [Option ID = 4339]
4. 4 [Option ID = 4340]



31)  Which of the following are true about Joint Forest Management (JFM)?
{A)  Its concept was introduced through the Environment (Protection) Act. 1986
(B) It involves both state forest department and local community
(C) Women also participate in this
(D) It varies from state to state and is known by different names in different languages

Cheose the most appraopriate answer from the options given below :

(1)  (A), (B) and (C) only
(2)  (B). (C) and (D) only
(3) (A (C) and (D) only
(4) (A). (B). (C) and (D)
R HE Bz (3 vg vg) & way g Fofefas O 9 a9 w8 27
(A) R IEyEn TAfE (e sfalEm, 1086 % men | vafdd 6 )
B) 9 T 94 faym 3 e e <E et w2
(C)  zad afeensii 1 of wnfrerd g6 21

(D) g 411 81 7= 4 Hep-3en 2 Hin fom grnsd O fism gl 8 el s 2

4 fem o foeredi 0 8 @ad 0w I & 959 Hifa
(1) 4 (A). @) 31 (©)
(2)  %ad (B). (C) 31 (D)
(3)  ad (A), (C) 3 (D)

4 (A B). (C) 31 D)

[Question ID = 1086][Question Description = 136_00_General_45_0CT22_Q36]
1. 1 [Option ID = 4341]
2. 2 [Option ID = 4342]
3. 3 [Option ID = 4343]
4. 4 [Option ID = 4344]

32) Disaster management plan was launched by mimstry of Home affair in

(1) 2005 (Z)y 2011
(3) 2016 (4) 2020

1% UHIEE gE Mg Yeu g1 fam ad o o) o o .

(1) 20051 (2) 20114
(3) 20164 (4) 20204

[Question ID = 1087][Question Description = 137_00_General_45_0CT22_Q37]
1. 1 [Option ID = 4345]
2. 2 [Option ID = 4346]
3. 3 [Option ID = 4347]
4. 4 [Option ID = 4348]



33)

Environmental problems associated with soils are

(A)
(B)
(©
(D)
(E)

Nutrient leaching
Metal contamination
Salinity and Alkalinity
Ozone depletion

Fine aerosols in ambient air

Choose the correcf answer from the options given below :

(1)
(2)
(3)
(4)

(A). (B). (C). (E) only
(B). (C). (E) only
(A). (B). (C). (D) only
(A), (B), (C) only

qy § Hafua gargeifa guwerd g 2

(A)
(B)
(©
D)
(E)

e de e

T Hgl

ST s ata
qirasiig a1y 4 98 UHEE

fra feu m fasedl 4 7 w6 I 9 = it
F4EA (A). (B). (C). (E)

+H# (B), (C), (E)

#4e (A). (B). (). (D)

47 (A), (B). (C)

(1)
(2)
(3)
(4)

[Question ID = 1088][Question Description = 138_00_General_45_0CT22_Q38]
1. 1 [Option ID = 4349]
2. 2 [Option ID = 4350]
3. 3 [Option ID = 4351]
4. 4 [Option ID = 4352]

34)

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).
Assertion (A) : Geothermal energy 1s not a renewable source of energyv.
Reason (R) : The processes for extracting and using geothermal power are more alin to

those for centralized fossil-fuels than the dispersed renewable supplies of

the natural environment.

In the light of the above statements. choose the corréct answer from the options given below :

(1)
(2)
(3)

(4)

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) 1s true hut (R) 1= false

(A) 1s false but (R) 15 true



M 41 ®e fau 2 o v AT9FE (Assertion A) % #4 4 feffiga 2 a1 g#1 35 %7 (Reason R)

HETY .

AT (A) : 8 AT e, 39 W Al w98 2
HE (R) : o A e svENu ain wam i ubered el ofaw R gl S
i 61 g | Sdid S gua 6 ufwrar & sl dueE 2

IPTF F & A 4, 99 feo o fawen 4 |5 58 3w 9ge Hif

@) (A 3 (R) ZH F 2 30 (R), (A) FI 6E e 7

(2) (A3 (R ZE HR 2, dfE (R), (A) 6w sman 458 2
(8 (A ¥ 7, didd (R) 393 2

@) (A wE 2, W (R) qS 2

[Question ID = 1089][Question Description = 139_00_General_45_0CT22_Q39]
1. 1 [Option ID = 4353]
2. 2 [Option ID = 4354]
3. 3 [Option ID = 4355]
4. 4 [Option ID = 4356]

3%) What is the correct sequence of concentration of various components of producer gas?
(A) CH:
(B)y CO:
(C) CO
(D) Na

Choose the correct answer from the options given below :
(1) (D)= (C)={A)>(B)
(2) D) > ()= (B)> (A)
(3) (€)= (D)= (A)=(B)

(1) (C)= (D) = (B) = (A)



yrepm i & fafua gedl & gdza 1 wE s e Ry

(A) CH.
(B) CO=
(C) co
D) No
44 feu wm fawedi 4 4 @ I = i
1) @D=(0)=A)=(B)
(2) D) =(C) > (B) = (A)
(3>  (©O)=(D)=>(A)=(B)
@  (O=D=>B=A)
[Question ID = 1090][Question Description = 140_00_General_45_0CT22_Q40]

1. 1 [Option ID = 4357]
2. 2 [Option ID = 4358]
3. 3 [Option ID = 4359]
4. 4 [Option ID = 4360]

36) Mahadev Govind Ranade, Gopal Ganesh Agarkar, Gopal Krishna Gokhale were known to
insizt on the idea

(1)

(2)

(3)

(4)

Keep women unenlightened in order to preserve the superiority of men

Provide equal educational opportunities to both boys and girls. through co-educational
institutions

All domestic work should be done by women alone

If women study science they would lose faith in religion

uEred iR TS, T T AR, TS T R R R A g & e s e e

(1) 991 = 2] 547 vEd & fom gfzensi =) swgg v

(2)  me-Toen gens & grem § a1 Sifermis & aaE SEe 3= geE w9

(3)  mefl wie e Fae afzens g feu s anfang

(4) = ufgem fasm @1 sergm e 2 9 oud § 3 favam 98 @)

[Question

ID = 1091][Question Description = 141_00_General_45_0CT22_Q41]

1. 1 [Option ID = 4361]
2. 2 [Option ID = 4362]
3. 3 [Option ID = 4363]
4. 4 [Option ID = 4364]



37) National knowledge commission was established in the yvear
(1) 1998 (2) 2000

(3) 2005 (4) 2007

T A e e P A g

(1) 1998 2 2000
(3) 2005 (4) 2007

[Question ID = 1092][Question Description = 142_00_General_45_0CT22_Q42]
1. 1 [Option ID = 4365]
2. 2 [Option ID = 4366]
3. 3 [Option ID = 4367]
4. 4 [Option ID = 4368]

38)  Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reaszon (R).

Assertion (A):  Education enables upward social economic mobility and is a key for
escaping poverty. Over the past decade major progress was made towards
increased access to education and enrolment at all levels particularly for
girls.

Reason (R) : The global pandemic has far reaching consequences that may jeopardize

hard won gains made in improving school education.

In the hight of the above statements. choose the most appropriate ansiwer from the options
given below;

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

(2 Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3 (A) 1= correct but (R) 18 not correct.

(4) (A) 1s not correct but (R) 1s correct.

Hre @t e[ o 2 - v wAfaeeE (Assertion A) & ¥4 4 feif@d 2 A1 g4 36k FAU (Reason R)
HETY

saEE (&) . e FE Avnfa- s afaiem § weEE w2 o e g 8 siEw
yfigr furdl 21 frsel g 4 favmrs sl & foe mfl = @ foen &) e
AR AT H qfe % af 9 Jgradte wiia g2 o)

&M (R) : Afves rrrfl @ gl wara ggn w faen e foen 8 gan & e d g3 wiia o
EIaE 3 A 2

IV YA & AT §, e foqu e fawen O # qeR 39w 39 & 99 i

(1) (A 3 (R) 2H1 981 2 301 (R), (A) 1 &d) =qve 2

(2)  (A) 31 (R) &1 9dl 2, “ifFE (R). (A) &1 T =amsn T8 2

(3) (A @A 2, wfea R) TF T74 R
@ QA FE 2, e (®) T R



[Question ID = 1093][Question Description = 143_00_General_45_0CT22_Q43]
1. 1 [Option ID = 4369]
2. 2 [Option ID = 4370]
3. 3 [Option ID = 4371]
4. 4 [Option ID = 4372]

39) Given below are two statements :

Statement I : Dewey equated schools to communities and education to a social process.

Statement II : Chomsky expressed that ultimate aim of education is production of
individuals which are different from each other mn terms of quality.

In the light of the above statements, Choose the correet ansier from the options given below :

(1) Both Statement I and Statement 1T are true
(2) Both Statement I and Statement 1T are false
(3) Statement I is true but Statement II is false
(€] Statement I is false but Statement II is true

=1 €1 9 fau mu & .

FeE (1) : STl 4 el %) HYEET o HAH a1 e ) At afEn o wuE aaE 2
FeE (1) ArE=hl A & A 6 e @ sifes 32y v i dUR e 2 S e ) gfe |
wHh-gHt | fim A

I FYF & AATF °, 4 fou o faman 0 8 w4 3w e w9q difew

(1)  &F (1) 30 (I0) &1 5 2
(2)  wF () 3 (1) €1 3reeg 2
(3)  FYE (D) A 2, diea w2 (1) 6 2

(4) R () 3 7, dfEd w99 (1D 57 2
[Question ID = 1094][Question Description = 144_00_General_45_0CT22_Q44]
1. 1 [Option ID = 4373]
2. 2 [Option ID = 4374]

3. 3 [Option ID = 4375]
4. 4 [Option ID = 4376]

40)  Which of the following characteristics pertains to Non-conventional learning?

(1) On campus education with fixed time
(2) Teacher centered learning

(3) Reguirement of regular attendance
(4 No fixed curriculum

f=tferfiga fasmansdi § =t o Hi-arufre foam § dafua 27
(1)  Fryffed oo et afrer snenfE fen

(2) e sz sk

(3)  frafug aufeafy 6 smavasn

(4) = Ffvaa we=ad #51 9 #9

[Question ID = 1095][Question Description = 145_00_General_45_0CT22_Q45]
1. 1 [Option ID = 4377]
2. 2 [Option ID = 4378]
3. 3 [Option ID = 4379]



4. 4 [Option ID = 4380]

Topi

1)

c:- 12_GP_SH2_Set1_C
Read the following passage and answer questions :

Walter Lippman refers to stereotypes as a projection on to the ‘world’. Although he is not
concerned primarily to distinguish stereotypes from modes of representation whose principal
concern is not the world, it 1= Important for us to do so. especially as our focus 1s
representation in media fictions, which are aesthetic az well as social constructs. In this
perspective, stereotypes are a particular sub-category of a broader category of fictional
characters, the type. Whereas stereotypes are essentially defined by their aesthetic function.
namely a mode of characterisation in fiction: The type is any character constructed through
the use of a few lmmediately recognizable and defining traits. which do not change or
‘develop’ through the course of the narrative and which peint to general, recurrent features of
the human world. Th opposite of the type is the novelistic character, defined by a multiphicity
of traits that are only gradually revealed to us through the course of the narrative, a
narrative which 15 hinged on the growth or development of the character and is thus centered
upon the latter in her or his unique individuality, rather than pointing cutwards to a world. In
any society. it 1s the novelistic character that is privileged over the type. for the obvious
reason that the society’s privileges-at any rate. at the level of social rhetoric-the individual
over the collective or the mass. For this reason. the majority of fictions that address
themselves to general =sccial issues tend nevertheless to end up telling the story of a
particular individual. hence returning social issues to purely personal and psvchelogical
ones. Once we address ourselves to the representation and definition of social eategories, for
example. alcoholics. we have to consider what 1s at stake in one mode of characterization
than another.

Frafafiga meams %1 afgu 3 w93 9 46 9 50 9F & U F1 I S

areet feamda wg faam &1 gl ) | % w9 0 gad 2| 22 9 gera: s e & gfas 6 e
faem g fawa fova 981 2, % afidl A 99 & 4 999 A8 2, 60 ofi 7un fom ven o fasme
wreE el 2 Fife U Wiy ditga fhaem o Feloa 2 9 disedgiss s amifas w21 g8 vfme d
wg feao sreqie Al @re gwR R gEe Aol 6 faem 3eidi 2 sefe g R w afrarda. 3ees
4w wfedyrs &0 Tma: 9fe fw & s gm ofearfea fen o 21 9z 2 o o sfige s
urfeqier sfte T % greEm H el T FIE uE R W e e o dRA gesrd 2 fasfad 48 e 2
I A UG HHE 6 I, STEH] faemdsil Rl 3T 29T HAd 21 24 2129 & favdia 39 % UH g
# fory v wafay sfie i gm afarfie faen smen 2 A afa % fawm @ fel sin arefl @aw ) 3w
Al &4 o aare wofl fafere dafesrm @ *fza e feaw & grem 9 - zan arE gse w
21 TRl T 0 e |fE o G e 3 e w9 f aEed # aits e 4 Juilach e 6w e
FHd W OEgE A FHHYEE 6 qee 4 oAt @ gEe sifas 21 g wE A stivs vl d e
= Hifas g2 &) vl w2, siad: fad eafe fagm 6 e @ 21 3w amifas fae 6
ari fasg =y 4 duime 3l gamEsnte faudi 9 & 2l 31 9 By wntres gie @ e aed 2
3t 37 afvaifea #@ § S fe sl & R %@ 2, 20 92 FaEn e uza 2 fE afs ke s
fopefl vk =9 0 w2y 1 sua FEE R R )

Representations that appear in the media fictions are

(1) Aesthetic constructs (2) Reflection of real world
{3) Defining characters (4) Matenalistic characterisation

tfifean foaem 4 gFara gfeegn # -

(1)  Hfedgrs graa (2) andfas gun #1 ufafaes
(3)  ufarfyg Faaam == (4) ifasrard =fra faam

[Question ID = 1096][Question Description = 146_00_General_45_0CT22_Q46]



A wpN =

2)

1 [Option ID = 4381]
2 [Option ID = 4382]
3 [Option ID = 4383]
4 [Option ID = 4384]

Read the following passage and answer questions :

Walter Lippman refers to stereotypes as a projection on to the ‘world’. Although he is not
concerned primarily to distinguish stereotypes from modes of representation whose principal
concern is not the world. it is important for us to do so. especially as our focus is
representation in media fictions. which are aesthetic as well as social constructs. In this
perspective, stereotypes are a particular sub-category of a broader category of fictional
characters, the type. Whereas stereotypes are essentially defined by their aesthetic function.
namely a mode of characterisation in fiction. The type is any character eonstructed through
the use of a few immediately recognizable and defining traits. which do not change or
‘develop’ through the eourse of the narrative and which point to general, recurrent features of
the human world. Th opposite of the type is the novelistic character, defined by a multipheity
of traits that are only gradually revealed to us through the course of the narrative, a
narrative which 1s hinged on the growth or development of the character and 1s thus centered
upon the latter in her or his unigue individuality, rather than pointing outwards to a world. In
any society. it 1s the novelistic character that iz privileged over the type. for the obvious
reason that the society’s privileges-at any rate. at the level of social rhetorie-the individual
over the collective or the mass. For this reason. the majority of fictions that address
themselves to general sccial issuez tend mevertheless to end up telling the story of a
particular individual. hence returning social issues to purely personal and psychelogical
ones. Once we address curselves to the representation and definition of social categories, for
example, alcoholics. we have to consider what is at stake in one mode of characterization
than another.

fafafiga mams % afgu o w99 | 46 @ 50 9F & w1 F1 I S

aret fawia wg faam & gfHar 1 J= & w9 0 gad 2| 19 9 ged: we & giesqo £ e
fomram wen fome fava 41 2, % ofa A gas w0 8 vga 94 5, Tl weR fe e e e
el 2 Fife s wrad difgm feaeml o frefoa 2 o diedyres s amifas dv=m 21 38 vfws d
wg feau s WAl WrE gwn R gE avi 6 fae 3gidi 2 sefe s e w sy sems
4 394 Higdwsh HE A 9iE feew & w9 gm gfearia T S 21 98 oy g ot sliEe sih
uriraries 3ffel Ui < HIeAm | el T S UE R W w & 2 gged o1 fawtaa 98 @ R
3 A oeE AER g, e faoma 3 g w2 g eree & faufa aem & v g
# Tl v wafay sfie i gr afeaifes T smm 2 oo =fa % fawm @ fede si amef saw o sm
:qffmfam%m_mﬂifarmaufaﬁﬂmaﬁraﬂ*mfammmmu Hi-4 791 qHA Wehe Al
71 TRl T 1 v |fE o i e 3 v w0 AEe # it e g wuilask a6 w9 e
FHd W OEgE I FHEYER 6 qee 0 At & gEe slas 21 g9 FE A stigsm v d e
W HEaE g2 H i T B, siaa: faed satw faim B sl @l 21 sme amfaes faem
argHl favrg =9 A Fafwe 3 g9dar-e ol 8 # @6l 81 9@ 79 anntaes gfoei @ e a4 2
3 37 fifud e 7 A4 f s 0 R @ 7, 24 g faan s gga 2 fe afE e s
foefl v = 0 sy 1 M@ EE W R

Sterecotypes are characterized by

(1) Immediate recognition of people (2) Fictional narration
(3 Absence of social constructs {4y Broadness of function
wg faam &) fagmmn 2 -
(1y = = osfre gEeEE (2) eI waTfeE

(8) WIS WA 6l s (4) FE &l SHFA



[Question ID = 1097][Question Description = 147_00_General_45_0CT22_Q47]
1. 1 [Option ID = 4385]
2. 2 [Option ID = 4386]

3.

3 [Option ID = 4387]

4. 4 [Option ID = 4388]

3)

Read the following passage and answer questions :

Walter Lippman refers to stereotypes as a projection on to the ‘world’. Although he is not
concerned primarily to distinguish sterectypes from modes of representation whose principal
concern is not the world, it 1= Important for us to do so. especially as our focus 1s
representation in media fictions, which are aesthetic az well as social constructs. In this
perspective, stereotypes are a particular sub-category of a broader category of fictional
characters, the type. Whereas stereotypes are essentially defined by their aesthetic function.
namely a mode of characterisation in fiction. The type is any character constructed through
the use of a few immediately recognizable and defining traits. which do not change or
‘develop’ through the course of the narrative and which peint to general, recurrent features of
the human world. Th opposite of the type is the novelistic character, defined by a multiplicity
of traits that are only gradually revealed to us through the course of the narrative, a
narrative which is hinged on the growth or development of the character and is thus centered
upon the latter in her or his unigue individuality, rather than pointing cutwards to a world.In
any society. it 1s the novelistic character that iz privileged over the type. for the obvious
reason that the society’s privileges-at any rate. at the level of social rhetoric-the individual
over the collective or the mass. For this reason. the majority of fictions that address
themselves to general =scdcial issues tend nevertheless to end up telling the story of a
particular individual, hence returning social issues to purely personal and psychological
ones. Once we address ourselves to the representation and definition of social eategories, for
example, alcoholics. we have to consider what is at stake in one mode of characterization
than another.

Freafafiga mems &1 afgu 3 w9a | 46 9 50 9F & 9 F1 I S

areet feanda wg faam &1 gl i |a % w9 0 gad 21 2 9 geras e e & gfas 6 e
Fmg@lﬁmﬁmqﬁ’f% % aftehl # e i 0 ygd F4 8, fE ol an foe v e fases
el 2 Fife sum Wy difga fhaem o frefua 2 o Wiy s amifas dvem 21 38 vfe o
wg faa sreqfe Al @re gwR R gEe Aol 6 faem 3gief 2) sefe g e @ afrarda. ses
4 33 Higdw F Jma: 9iE e & = ogm gitaive e s 810 98 oen g 9w e ain
urfeies sfte T & wreEm H Tl T FE uE R W w e & gRA "esrd n faswfada 48 e 2
1 W G AR F qEE, HTEH] Ao Rl 3 29T #6229 2N & fadia 3eem & v O
# foq v wmfay ofie i gm wfaifie T s 2 &1 9fe & fawm @ o s == 99w # s
yfng@mmmm:ﬁi%rfsmﬂademmWﬁﬁmf—ﬁmmmmnzﬁ!tﬂ’:ﬁﬁnmﬂqmmm
71 Ferei wura 1 e i S e Zee | v w0 A @ it ware O wrta e 6 v e
S W OHEE F FHHEEE F qe O sl @ gae sifas 2) g9 wrm | s are d T
= Hifas ggi #) vl w2, siad: faf et fagm i e #6210 3w amfaes fae 6
anHl favg =y & Jafwes 3 gdarfae fai 8 @ @6l 81 9@ 79 st gford @ feow @A 2
3 3% afturfes &@ & 39 & sofag = e 5@ 2, 20 97 faan o vz 2 f8 =i feo 5
faell weh w9 0 379 1 e T EE TR |

Any character in the tvpe will reflect

(1) The illusory world

(2) The changeable traits of individuals
(3 The unchangeable traits of individuals

(4) The sub-categories of representation



ferefl wE= v & =i g ufafatem s

(1) v fHvE

(2)  =afwEl & qiEr-E se-T
(3) =il & sfradr sfE-m
(4) = e

[Question ID = 1098][Question Description = 148_00_General_45_0CT22_Q48]
1. 1 [Option ID = 4389]
2. 2 [Option ID = 4390]

3.

3 [Option ID = 4391]

4. 4 [Option ID = 4392]

4)

Read the following passage and answer guestions :

Walter Lippman refers to stereotypes as a projection on to the ‘world’. Although he is not
concerned primarily to distinguish sterectypes from modes of representation whose principal
concern is not the world. it is important for us to do so. especially as our focus is
representation in media fictions, which are aesthetic as well as social constructs. In this
perspective, stereotypes are a particular sub-category of a broader category of fictional
characters, the type. Whereas stereotypes are essentially defined by their aesthetic function.
namely a mode of characterisation in fiction. The type i1s any character constructed through
the use of a few 1mmediately recognisable and defining traits. which do not change or
‘develop’ through the eourse of the narrative and which point to general, recurrent features of
the human world. Th opposite of the type is the novelistic character, defined by a multiphicity
of traits that are only gradually revealed to ug through the course of the narrative, a
narrative which 18 hinged on the growth or development of the character and is thus centered
upon the latter in her or his unique individuality, rather than pointing cutwards to a world. In
any soclety 1t is the novelistic character that is privileged over the type. for the obvious
reason that the society’s privileges-at any rate. at the level of social rhetorie-the individual
over the collective or the mass. For this reason. the majority of fictions that address
themselves to general scocial issuez tend mevertheless to end up telling the story of a
particular individual, hence returning social issues to purely personal and psychological
ones. Once we address ourselves to the representation and definition of social categories. for
example. alecoholics. we have to consider what 1s at stake in one mode of characterization
than another.

feafafiaa mams ®1 afgu o w9q 9 46 @ 50 9F & 9 F1 IW S .

aret favia ®g faam &1 gfHar 6 J & #9 0 gad 2| 29l 9 gera: Fe & giawro £ e

Fmg@IWJFaw:ﬁﬂ% % aftl # gue w4 0 g T8 8, fE ol an fow v e fasme
gl 2 Fife s wred difgm el o frefim 2 9 Wiy s i dwem 2 39 vfme g
w2 v sreqis Il @ 9ER R gEe Aol i faem gl 2 el v Fam el sftardds s
4 394 Higdwes wE A 9iE fe o w9 ogm giearia T a2 g o g oite sfiEe sih
urfraries 3ffel Ui < H1eAg | el T S UE R W wy % ZE gged o1 fawtaa A6 2 R
S 1 urE dEE 6 g, e fasms s 2o w2 38 ey & favde gues & vE urE
# ol v asfay sfie i gr afaifes e smm 2 oo =fa % fawm @ fedn si amef waw # s
}rffmgramaam_mrﬁfarmaafﬂﬂﬂmmdmmfﬁmaﬁmmy -4 #HR {HA Wehe Al
B forehi wars § o afe S ffi e & we w4 agar 2 w=its aure § ot anfie % v @ fodi
Fd T OEgE I e § qed 0 e @ uee ofas 21 @ e 8 sigem 3= 8 e
T g WE S T 2, siEa: fa sutw faim o werh B 21 aW: amfas fae
arl fasg w=v & dates s reamte favdi § @ 260 21 9@ w0 afie At @ feu ww §
3 3% afturfes &m 7 0 G sofel = Faen &9 2, 290 72 faanm oo = 2 f =i e 5
ferel vk w9 0 37y 1 308 RN EE TR |



Why the novelistic character is privileged over the type?

(1)

(2)

(3)

(4

Due to the demand of the narrat_ive

Because of single definable trait
As it 1s part of a sub-category called stereotype

Because of preference of social rhetoric to the individual.

w7 Afd] ) qe 0 s 9ol & @ w e Fe 27

(1)

(2)

(3)

(4)

w1 fem <61 g
UFe T Sfe -
ik g7 v Il w7 famm @ fen 2

dafeh & 7Y anarias aifa & 9iga

[Question ID = 1099][Question Description = 149_00_General_45_0CT22_Q49]
1. 1 [Option ID = 4393]
2. 2 [Option ID = 4394]
3. 3 [Option ID = 4395]
4. 4 [Option ID = 4396]

3)

Read the following passage and answer questions :

Walter Lippman refers to stereotypes as a projection on to the ‘world’. Although he is not
concerned primarily to distinguish sterestypes from modes of representation whose principal
concern is not the world. it is important for us to do so. especially as our focus is
representation in media fictions, which are aesthetic az well as social constructs. In this
perspective, stereotypes are a particular sub-category of a broader category of fictional
characters, the type. Whereas stereotypes are essentially defined by their aesthetic function.
namely a mode of characterisation in fiction. The type is any character eonstructed through
the use of a few immediately recognizable and defining traits. which do not change or
‘develop’ through the course of the narrative and which peint to general, recurrent features of
the human world. Th opposite of the type is the novelistic character, defined by a multipheity
of traits that are only gradually revealed to us through the course of the narrative, a
narrative which 1s hinged on the growth or development of the character and 1s thus centered
upon the latter in her or his unigue individuality, rather than pointing cutwards to a world. In
any society. it 1s the novelistic character that iz privileged over the type. for the obvious
reason that the society’s privileges-at any rate. at the level of social rhetoric-the individual
over the collective or the mass. For this reason. the majority of fictions that address
themselves to general sdcial issuez tend nevertheless to end up telling the story of a
particular individual. hence returning social issues to purely personal and psychelogical
ones. Once we address curselves to the representation and definition of social categories. for
example, alcoholics. we have to consider what 1s at stake in one mode of characterization
than another.



Freaferfiga wremer = afgu 3 9w= | 46 8 50 7% % 99 ®1 3W ifaw

areet feauda wg faam & gl ) Ja % w9 4 gad 2| 229 9 gera: we e & gfas 6 e
Foerm g fo fava 9 2, % afiel @ guse 03 4 wad 981 8, 0 o aan fom v s fasive
mEE 2 Fife wUE Fied ditear fraei 4 frefm 2 S digdoss s s ae 3| 39 aide |
w7 feamn arefas el @ gwn 6 gaen ool 6 fasiy 3ol 2) srafe s faao @ afvardy. e
4 5y Hledyrs &0 Ama: Jf v & s g gfearfea fen S 21 9r o w5 ot sifige s
urfearfees sffer ol & grem 8 w2 en E uE 2w wen FEo & e wee a1 fasfea o 2 2
30 9 oeE AEn g, s faams f1 3 2o w2 2 ere F fAufa aem & v g
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Most novelists, while addressing social issues, prefer fictionalisation of

(1) The masses (2) Social sub-categories

(3)  Social privileges (4) Personal issues
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